POLICY OVERVIEW ADDED. OCT 08, 2019 ENDED. DEC 15, 2019

## Eden Prairie's 2019 Community Survey

## Do you feel safe in your city?

CURRENT RESULTS		79 Total Responses
Y	Yes (73)	92.4% (73)
N	No (6)	7.6% (6)

## REGISTERED VS NON-REGISTERED

	Y	N
Registered Voters (62)	93.5% (58)	6.5% (4)
Non-Registered Voters (17)	88.2% (15)	11.8% (2)

	Y	N
All respondents (79)	92.4% (73)	7.6% (6)
Registered Voters in Eden Prairie, MN, MN (62)	93.5% (58)	6.5% (4)
Live in Eden Prairie, MN, MN (78) - Self-reported	92.3% (72)	7.7% (6)
Subscribers to Eden Prairie, MN, MN (78)	92.3% (72)	7.7% (6)
Register respondents from anywhere (62)	93.5% (58)	6.5% (4)

PRECINCT	62 REGISTERED VOTERS
PRECINCT	62 REGISTERED VOTERS

	A	В
EDEN PRAIRIE P-01 (7)	100.0% (7)	-
EDEN PRAIRIE P-03 (4)	100.0% (4)	-
EDEN PRAIRIE P-04 (5)	100.0% (5)	-
EDEN PRAIRIE P-05 (4)	100.0% (4)	-
EDEN PRAIRIE P-09 (2)	100.0% (2)	-
EDEN PRAIRIE P-10 (4)	100.0% (4)	-
EDEN PRAIRIE P-12 (3)	100.0% (3)	-
EDEN PRAIRIE P-13 (5)	100.0% (5)	-
EDEN PRAIRIE P-14 (7)	71.4% (5)	28.6% (2)
EDEN PRAIRIE P-15 (5)	100.0% (5)	-
EDEN PRAIRIE P-16 (6)	83.3% (5)	16.7% (1)
EDEN PRAIRIE P-17 (2)	100.0% (2)	-
EDEN PRAIRIE P-18 (4)	100.0% (4)	-
EDEN PRAIRIE P-19A (2)	50.0% (1)	50.0% (1)
EDEN PRAIRIE P-19B (2)	100.0% (2)	-

VOTERS GENDER			62 REGISTERED VOTERS
	A	В	

F (31)	93.5% (29)	6.5% (2)
M (31)	93.5% (29)	6.5% (2)

AGE RANGE		62 REGISTERED VOTERS
	A	В
18-29 (5)	100.0% (5)	-
30-39 (15)	93.3% (14)	6.7% (1)
40-49 (9)	88.9% (8)	11.1% (1)
50-59 (17)	100.0% (17)	-

60-69 (11) 81.8% (9) 18.2% (2) 70-79 (5) 100.0% (5) -

## Do you feel safe in your neighborhood?

Y Yes (74) 93.7% (74) No (5) 6.3% (5)	CURRENT RESULTS			79 Total Responses
No (5)	Υ	Yes (74)		93.7% (74)
16 (6)	N	No (5)	-	6.3% (5)

## REGISTERED VS NON-REGISTERED

	Y	N
Registered Voters (62)	95.2% (59)	4.8% (3)
Non-Registered Voters (17)	88.2% (15)	11.8% (2)

## ALL RESPONDENTS

	Y	N
All respondents (79)	93.7% (74)	6.3% (5)
Registered Voters in Eden Prairie, MN, MN (62)	95.2% (59)	4.8% (3)
Live in Eden Prairie, MN, MN (78) - Self-reported	93.6% (73)	6.4% (5)
Subscribers to Eden Prairie, MN, MN (78)	93.6% (73)	6.4% (5)
Register respondents from anywhere (62)	95.2% (59)	4.8% (3)

PRECINCT 62 REGISTERED VOTERS

	A	В
EDEN PRAIRIE P-01 (7)	100.0% (7)	-
EDEN PRAIRIE P-03 (4)	100.0% (4)	-
EDEN PRAIRIE P-04 (5)	100.0% (5)	-
EDEN PRAIRIE P-05 (4)	100.0% (4)	-
EDEN PRAIRIE P-09 (2)	100.0% (2)	-
EDEN PRAIRIE P-10 (4)	100.0% (4)	-
EDEN PRAIRIE P-12 (3)	100.0% (3)	-
EDEN PRAIRIE P-13 (5)	100.0% (5)	-
EDEN PRAIRIE P-14 (7)	71.4% (5)	28.6% (2)
EDEN PRAIRIE P-15 (5)	100.0% (5)	-
EDEN PRAIRIE P-16 (6)	100.0% (6)	-
EDEN PRAIRIE P-17 (2)	100.0% (2)	-
EDEN PRAIRIE P-18 (4)	100.0% (4)	-
EDEN PRAIRIE P-19A (2)	50.0% (1)	50.0% (1)
EDEN PRAIRIE P-19B (2)	100.0% (2)	-

VOTERS GENDER		62 REGISTERED VOTERS
	A	В
F (31)	96.8% (30)	3.2% (1)
M (31)	93.5% (29)	6.5% (2)

AGE RANGE			62 REGISTERED VOTERS
	A	В	
18-29 (5)	100.0% (5)	-	
30-39 (15)	93.3% (14)	6.7% (1)	
40-49 (9)	88.9% (8)	11.1% (1)	
50-59 (17)	100.0% (17)	-	
60-69 (11)	90.9% (10)	9.1% (1)	
70-79 (5)	100.0% (5)	-	

# Do you believe that the public safety services (Police/Fire/Emergency Services) in Eden Prairie will be able to serve you in times of need?

CURRENT RESULTS			79 Total Responses
Y	Yes (78)		98.7% (78)
N	No (1)		1.3% (1)

REGISTERED VS NON-REGISTERED		
	Y	N
Registered Voters (62)	98.4% (61)	1.6% (1)
Non-Registered Voters (17)	100.0% (17)	-

ALL RESPONDENTS		
	Y	N
All respondents (79)	98.7% (78)	1.3% (1)
Registered Voters in Eden Prairie, MN, MN (62)	98.4% (61)	1.6% (1)
Live in Eden Prairie, MN, MN (78) - Self-reported	98.7% (77)	1.3% (1)
Subscribers to Eden Prairie, MN, MN (78)	98.7% (77)	1.3% (1)
Register respondents from anywhere (62)	98.4% (61)	1.6% (1)

PRECINCT		62 REGISTERED VOTERS
	A	В
EDEN PRAIRIE P-01 (7)	85.7% (6)	14.3% (1)
EDEN PRAIRIE P-03 (4)	100.0% (4)	-
EDEN PRAIRIE P-04 (5)	100.0% (5)	-
EDEN PRAIRIE P-05 (4)	100.0% (4)	-
EDEN PRAIRIE P-09 (2)	100.0% (2)	-
EDEN PRAIRIE P-10 (4)	100.0% (4)	-
EDEN PRAIRIE P-12 (3)	100.0% (3)	-
EDEN PRAIRIE P-13 (5)	100.0% (5)	-
EDEN PRAIRIE P-14 (7)	100.0% (7)	-
EDEN PRAIRIE P-15 (5)	100.0% (5)	-
EDEN PRAIRIE P-16 (6)	100.0% (6)	-
EDEN PRAIRIE P-17 (2)	100.0% (2)	-
EDEN PRAIRIE P-18 (4)	100.0% (4)	-
EDEN PRAIRIE P-19A (2)	100.0% (2)	-
EDEN PRAIRIE P-19B (2)	100.0% (2)	-

VOTERS GENDER			62 REGISTERED VOTERS
	A	В	
F (31)	96.8% (30)	3.2% (1)	
M (31)	100.0% (31)	-	

AGE RANGE			62 REGISTERED VOTERS
	A	В	
18-29 (5)	100.0% (5)	-	
30-39 (15)	93.3% (14)	6.7% (1)	
40-49 (9)	100.0% (9)	=	
50-59 (17)	100.0% (17)	=	
60-69 (11)	100.0% (11)	=	
70-79 (5)	100.0% (5)	=	

## How would you rate the physical condition of your community's infrastructure (Roads/Sidewalks/Bridges)?

CURRENT	CURRENT RESULTS	
Α	Very good shape (24)	30% (24)
В	Overall good, although some needs are present (43)	54% (43)
С	Infrastructure is starting to show its age enough that I am noticing it (8)	10% (8)
D	Overall Infrastructure is in rough shape (4)	5% (4)

REGISTERED	VS NC	N-REGIS	TERED

	A	В	C	D
Registered Voters (62)	30.6% (19)	54.8% (34)	9.7% (6)	4.8% (3)
Non-Registered Voters (17)	29.4% (5)	52.9% (9)	11.8% (2)	5.9% (1)

## ALL RESPONDENTS

	Α	В	С	D
All respondents (79)	30.0% (24)	54.0% (43)	10.0% (8)	5.0% (4)
Registered Voters in Eden Prairie, MN, MN (62)	30.6% (19)	54.8% (34)	9.7% (6)	4.8% (3)
Live in Eden Prairie, MN, MN (78) - Self-reported	30.8% (24)	53.8% (42)	10.3% (8)	5.1% (4)
Subscribers to Eden Prairie, MN, MN (78)	30.8% (24)	53.8% (42)	10.3% (8)	5.1% (4)
Register respondents from anywhere (62)	31.0% (19)	55.0% (34)	10.0% (6)	5.0% (3)

## PRECINCT 62 REGISTERED VOTERS

	A	В	С	D
EDEN PRAIRIE P-01 (7)	28.6% (2)	28.6% (2)	28.6% (2)	14.3% (1)
EDEN PRAIRIE P-03 (4)	-	75.0% (3)	25.0% (1)	-
EDEN PRAIRIE P-04 (5)	60.0% (3)	40.0% (2)	-	-
EDEN PRAIRIE P-05 (4)	50.0% (2)	50.0% (2)	-	-
EDEN PRAIRIE P-09 (2)	50.0% (1)	50.0% (1)	=	=
EDEN PRAIRIE P-10 (4)	25.0% (1)	50.0% (2)	25.0% (1)	-
EDEN PRAIRIE P-12 (3)	=	66.7% (2)	33.3% (1)	=
EDEN PRAIRIE P-13 (5)	60.0% (3)	40.0% (2)	-	-
EDEN PRAIRIE P-14 (7)	42.9% (3)	28.6% (2)	-	28.6% (2)
EDEN PRAIRIE P-15 (5)	-	80.0% (4)	20.0% (1)	-
EDEN PRAIRIE P-16 (6)	16.7% (1)	83.3% (5)	-	-
EDEN PRAIRIE P-17 (2)	50.0% (1)	50.0% (1)	=	-
EDEN PRAIRIE P-18 (4)	25.0% (1)	75.0% (3)	-	-
EDEN PRAIRIE P-19A (2)	-	100.0% (2)	-	-
EDEN PRAIRIE P-19B (2)	50.0% (1)	50.0% (1)	=	=

## VOTERS GENDER 62 REGISTERED VOTERS

	A	В	C	D
F (31)	35.5% (11)	48.4% (15)	12.9% (4)	3.2% (1)
M (31)	25.8% (8)	61.3% (19)	6.5% (2)	6.5% (2)

AGE RANGE	62 REGISTERED VOTERS

	A	В	C	D
18-29 (5)	20.0% (1)	60.0% (3)	20.0% (1)	-
30-39 (15)	20.0% (3)	46.7% (7)	20.0% (3)	13.3% (2)
40-49 (9)	44.4% (4)	44.4% (4)	-	11.1% (1)
50-59 (17)	35.3% (6)	58.8% (10)	5.9% (1)	-
60-69 (11)	27.3% (3)	63.6% (7)	9.1% (1)	-
70-79 (5)	40.0% (2)	60.0% (3)	-	-

## How often are you able to get to your desired destination in your city within a reasonable time?

CURRENT RESULTS			79 Total Responses
A	Always (22)		28% (22)
В	Regularly (39)		49% (39)
C	Sometimes (17)		22% (17)
D	Never (1)	I .	1% (1)

## REGISTERED VS NON-REGISTERED

	Α	В	С	D
Registered Voters (62)	30.6% (19)	48.4% (30)	19.4% (12)	1.6% (1)
Non-Registered Voters (17)	17.6% (3)	52.9% (9)	29.4% (5)	-

## ALL RESPONDENTS

	A	В	C	D
All respondents (79)	28.0% (22)	49.0% (39)	22.0% (17)	1.0% (1)
Registered Voters in Eden Prairie, MN, MN (62)	30.6% (19)	48.4% (30)	19.4% (12)	1.6% (1)
Live in Eden Prairie, MN, MN (78) - Self-reported	26.9% (21)	50.0% (39)	21.8% (17)	1.3% (1)
Subscribers to Eden Prairie, MN, MN (78)	26.9% (21)	50.0% (39)	21.8% (17)	1.3% (1)
Register respondents from anywhere (62)	31.0% (19)	48.0% (30)	19.0% (12)	2.0% (1)

PRECINCT 62 I	REGISTERED VOTERS
---------------	-------------------

	Α	В	С	D
EDEN PRAIRIE P-01 (7)	-	57.1% (4)	42.9% (3)	-
EDEN PRAIRIE P-03 (4)	25.0% (1)	75.0% (3)	-	-
EDEN PRAIRIE P-04 (5)	60.0% (3)	40.0% (2)	-	-
EDEN PRAIRIE P-05 (4)	50.0% (2)	50.0% (2)	-	-
EDEN PRAIRIE P-09 (2)	=	100.0% (2)	-	=
EDEN PRAIRIE P-10 (4)	25.0% (1)	25.0% (1)	50.0% (2)	=
EDEN PRAIRIE P-12 (3)	=	100.0% (3)	-	=
EDEN PRAIRIE P-13 (5)	40.0% (2)	20.0% (1)	40.0% (2)	-
EDEN PRAIRIE P-14 (7)	42.9% (3)	28.6% (2)	28.6% (2)	-
EDEN PRAIRIE P-15 (5)	=	80.0% (4)	-	20.0% (1)
EDEN PRAIRIE P-16 (6)	16.7% (1)	50.0% (3)	33.3% (2)	=
EDEN PRAIRIE P-17 (2)	50.0% (1)	50.0% (1)	-	=
EDEN PRAIRIE P-18 (4)	100.0% (4)	-	-	-
EDEN PRAIRIE P-19A (2)	-	50.0% (1)	50.0% (1)	-
EDEN PRAIRIE P-19B (2)	50.0% (1)	50.0% (1)	-	-

## VOTERS GENDER 62 REGISTERED VOTERS

	A	В	C	D
F (31)	29.0% (9)	51.6% (16)	16.1% (5)	3.2% (1)
M (31)	32.3% (10)	45.2% (14)	22.6% (7)	-

AGE RANGE		62 REGISTERED VOTERS

	A	<b>B</b>	C	D .
18-29 (5)	-	80.0% (4)	20.0% (1)	-
30-39 (15)	6.7% (1)	66.7% (10)	20.0% (3)	6.7% (1)
40-49 (9)	44.4% (4)	22.2% (2)	33.3% (3)	-
50-59 (17)	35.3% (6)	52.9% (9)	11.8% (2)	-
60-69 (11)	45.5% (5)	36.4% (4)	18.2% (2)	-
70-79 (5)	60.0% (3)	20.0% (1)	20.0% (1)	-

## Do you have access to the technology and connectivity you need on a daily basis?

CURRENT RESULTS		79 Total Responses
Y	Yes (74)	93.7% (74)
N	No (5)	6.3% (5)

REGISTERED	VS NON-REGISTERED

	Y	N
Registered Voters (62)	93.5% (58)	6.5% (4)
Non-Registered Voters (17)	94.1% (16)	5.9% (1)

	Y	N
All respondents (79)	93.7% (74)	6.3% (5)
Registered Voters in Eden Prairie, MN, MN (62)	93.5% (58)	6.5% (4)
Live in Eden Prairie, MN, MN (78) - Self-reported	93.6% (73)	6.4% (5)
Subscribers to Eden Prairie, MN, MN (78)	93.6% (73)	6.4% (5)
Register respondents from anywhere (62)	93.5% (58)	6.5% (4)

PRECINCT	62 REGISTERED VOTERS

	A	В
EDEN PRAIRIE P-01 (7)	100.0% (7)	-
EDEN PRAIRIE P-03 (4)	75.0% (3)	25.0% (1)
EDEN PRAIRIE P-04 (5)	100.0% (5)	-
EDEN PRAIRIE P-05 (4)	75.0% (3)	25.0% (1)
EDEN PRAIRIE P-09 (2)	100.0% (2)	-
EDEN PRAIRIE P-10 (4)	100.0% (4)	-
EDEN PRAIRIE P-12 (3)	100.0% (3)	-
EDEN PRAIRIE P-13 (5)	100.0% (5)	-
EDEN PRAIRIE P-14 (7)	85.7% (6)	14.3% (1)
EDEN PRAIRIE P-15 (5)	100.0% (5)	-
EDEN PRAIRIE P-16 (6)	100.0% (6)	-
EDEN PRAIRIE P-17 (2)	100.0% (2)	-
EDEN PRAIRIE P-18 (4)	100.0% (4)	-
EDEN PRAIRIE P-19A (2)	100.0% (2)	-
EDEN PRAIRIE P-19B (2)	50.0% (1)	50.0% (1)

VOTERS GENDER			62 REGISTERED VOTERS
	A	В	
F (31)	93.5% (29)	6.5% (2)	
14 (04)	00 F0/ (00)	0.50/ (0)	

AGE RANGE			62 REGISTERED VOTERS
	A	В	
18-29 (5)	100.0% (5)	=	
30-39 (15)	93.3% (14)	6.7% (1)	
40-49 (9)	100.0% (9)	=	
50-59 (17)	88.2% (15)	11.8% (2)	
60-69 (11)	90.9% (10)	9.1% (1)	
70-79 (5)	100.0% (5)	-	

## How would you rate the overall appearance of the community?

CURRENT RESULTS			79 Total Responses
A	Excellent (34)		43% (34)
В	Good (42)		53% (42)
С	Fair (2)		3% (2)
D	Poor (1)	l e	1% (1)

## REGISTERED VS NON-REGISTERED

	A	В	C	D
Registered Voters (62)	43.5% (27)	54.8% (34)	=	1.6% (1)
Non-Registered Voters (17)	41.2% (7)	47.1% (8)	11.8% (2)	-

## ALL RESPONDENTS

70-79 (5)

80.0% (4)

	A	В	C	D
All respondents (79)	43.0% (34)	53.0% (42)	3.0% (2)	1.0% (1)
Registered Voters in Eden Prairie, MN, MN (62)	43.5% (27)	54.8% (34)	-	1.6% (1)
Live in Eden Prairie, MN, MN (78) - Self-reported	42.3% (33)	53.8% (42)	2.6% (2)	1.3% (1)
Subscribers to Eden Prairie, MN, MN (78)	42.3% (33)	53.8% (42)	2.6% (2)	1.3% (1)
Register respondents from anywhere (62)	44.0% (27)	55.0% (34)	-	2.0% (1)

	Α	В	С	D
EDEN PRAIRIE P-01 (7)	42.9% (3)	57.1% (4)	=	=
EDEN PRAIRIE P-03 (4)	25.0% (1)	75.0% (3)	-	-
EDEN PRAIRIE P-04 (5)	60.0% (3)	40.0% (2)	-	-
EDEN PRAIRIE P-05 (4)	50.0% (2)	50.0% (2)	-	-
EDEN PRAIRIE P-09 (2)	50.0% (1)	50.0% (1)	-	-
EDEN PRAIRIE P-10 (4)	50.0% (2)	50.0% (2)	=	-
EDEN PRAIRIE P-12 (3)	-	100.0% (3)	=	=
EDEN PRAIRIE P-13 (5)	40.0% (2)	60.0% (3)	-	-
EDEN PRAIRIE P-14 (7)	28.6% (2)	57.1% (4)	-	14.3% (1)
EDEN PRAIRIE P-15 (5)	20.0% (1)	80.0% (4)	-	-
EDEN PRAIRIE P-16 (6)	50.0% (3)	50.0% (3)	-	-
EDEN PRAIRIE P-17 (2)	50.0% (1)	50.0% (1)	-	-
EDEN PRAIRIE P-18 (4)	75.0% (3)	25.0% (1)	-	-
EDEN PRAIRIE P-19A (2)	50.0% (1)	50.0% (1)	-	-
EDEN PRAIRIE P-19B (2)	100.0% (2)	-	-	-

VOTERS GENDER 62 RI	EGISTERED VOTERS
---------------------	------------------

	A	В	C	D
F (31)	45.2% (14)	54.8% (17)	-	-
M (31)	41.9% (13)	54.8% (17)	-	3.2% (1)

AGE RANGE				62 REGISTERED VOTERS
	A	В	С	D
18-29 (5)	20.0% (1)	80.0% (4)	=	-
30-39 (15)	33.3% (5)	66.7% (10)	=	-
40-49 (9)	44.4% (4)	44.4% (4)	=	11.1% (1)
50-59 (17)	47.1% (8)	52.9% (9)	=	-
60-69 (11)	45.5% (5)	54.5% (6)	-	-

20.0% (1)

## How would you rate the overall appearance of your neighborhood?

CURRENT RESULTS		79 Total Responses
A	Excellent (27)	34% (27)
В	Good (44)	56% (44)
C	Fair (8)	10% (8)
D	Poor (0)	0% (0)

## REGISTERED VS NON-REGISTERED

	A	В	C	D
Registered Voters (62)	35.5% (22)	53.2% (33)	11.3% (7)	-
Non-Registered Voters (17)	29.4% (5)	64.7% (11)	5.9% (1)	-

## ALL RESPONDENTS

	A	В	С	D
All respondents (79)	34.0% (27)	56.0% (44)	10.0% (8)	-
Registered Voters in Eden Prairie, MN, MN (62)	35.5% (22)	53.2% (33)	11.3% (7)	-
Live in Eden Prairie, MN, MN (78) - Self-reported	33.3% (26)	56.4% (44)	10.3% (8)	-
Subscribers to Eden Prairie, MN, MN (78)	33.3% (26)	56.4% (44)	10.3% (8)	-
Register respondents from anywhere (62)	35.0% (22)	53.0% (33)	11.0% (7)	-

PRECINCT 62 REGIS	STERED VOTERS
-------------------	---------------

	A	В	С	D
EDEN PRAIRIE P-01 (7)	28.6% (2)	57.1% (4)	14.3% (1)	-
EDEN PRAIRIE P-03 (4)	-	75.0% (3)	25.0% (1)	-
EDEN PRAIRIE P-04 (5)	60.0% (3)	20.0% (1)	20.0% (1)	-
EDEN PRAIRIE P-05 (4)	75.0% (3)	25.0% (1)	=	-
EDEN PRAIRIE P-09 (2)	50.0% (1)	=	50.0% (1)	-
EDEN PRAIRIE P-10 (4)	25.0% (1)	75.0% (3)	=	-
EDEN PRAIRIE P-12 (3)	-	66.7% (2)	33.3% (1)	-
EDEN PRAIRIE P-13 (5)	20.0% (1)	60.0% (3)	20.0% (1)	-
EDEN PRAIRIE P-14 (7)	57.1% (4)	28.6% (2)	14.3% (1)	-
EDEN PRAIRIE P-15 (5)	-	100.0% (5)	-	-
EDEN PRAIRIE P-16 (6)	33.3% (2)	66.7% (4)	-	-
EDEN PRAIRIE P-17 (2)	100.0% (2)	-	=	-
EDEN PRAIRIE P-18 (4)	75.0% (3)	25.0% (1)	-	-
EDEN PRAIRIE P-19A (2)	-	100.0% (2)	-	-
EDEN PRAIRIE P-19B (2)	-	100.0% (2)	-	-

## VOTERS GENDER 62 REGISTERED VOTERS

	A	В	C	D
F (31)	29.0% (9)	64.5% (20)	6.5% (2)	-
M (31)	41.9% (13)	41.9% (13)	16.1% (5)	-

AGE RANGE				62 REGISTERED VOTERS
	A	В	С	D
18-29 (5)	-	80.0% (4)	20.0% (1)	-
30-39 (15)	33.3% (5)	53.3% (8)	13.3% (2)	-
40-49 (9)	77.8% (7)	22.2% (2)	-	-
50-59 (17)	29.4% (5)	58.8% (10)	11.8% (2)	-
60-69 (11)	36.4% (4)	45.5% (5)	18.2% (2)	-
70-79 (5)	20.0% (1)	80.0% (4)	-	-

## Does Eden Prairie do a good job of keeping you informed on important local issues?

CURRENT RESULTS		79 Total Responses
Y	Yes (70)	88.6% (70)
N	No (9)	11.4% (9)

DECICTEDED	VC NON	DECICTEDED	

	Y	N
Registered Voters (62)	88.7% (55)	11.3% (7)
Non-Registered Voters (17)	88.2% (15)	11.8% (2)

## ALL RESPONDENTS

M (31)

	Y	N
All respondents (79)	88.6% (70)	11.4% (9)
Registered Voters in Eden Prairie, MN, MN (62)	88.7% (55)	11.3% (7)
Live in Eden Prairie, MN, MN (78) - Self-reported	88.5% (69)	11.5% (9)
Subscribers to Eden Prairie, MN, MN (78)	88.5% (69)	11.5% (9)
Register respondents from anywhere (62)	88.7% (55)	11.3% (7)

PRECINCT			62 REGISTERED VOTERS
	_	_	

	A	В
EDEN PRAIRIE P-01 (7)	85.7% (6)	14.3% (1)
EDEN PRAIRIE P-03 (4)	100.0% (4)	-
EDEN PRAIRIE P-04 (5)	80.0% (4)	20.0% (1)
EDEN PRAIRIE P-05 (4)	100.0% (4)	-
EDEN PRAIRIE P-09 (2)	50.0% (1)	50.0% (1)
EDEN PRAIRIE P-10 (4)	75.0% (3)	25.0% (1)
EDEN PRAIRIE P-12 (3)	100.0% (3)	-
EDEN PRAIRIE P-13 (5)	100.0% (5)	-
EDEN PRAIRIE P-14 (7)	85.7% (6)	14.3% (1)
EDEN PRAIRIE P-15 (5)	80.0% (4)	20.0% (1)
EDEN PRAIRIE P-16 (6)	83.3% (5)	16.7% (1)
EDEN PRAIRIE P-17 (2)	100.0% (2)	-
EDEN PRAIRIE P-18 (4)	100.0% (4)	-
EDEN PRAIRIE P-19A (2)	100.0% (2)	-
EDEN PRAIRIE P-19B (2)	100.0% (2)	-

VOTERS GENDER			62 REGISTERED VOTERS
	A	В	
F (31)	90.3% (28)	9.7% (3)	

87.1% (27)

AGE RANGE			62 REGISTERED VOTERS
	A	В	
18-29 (5)	60.0% (3)	40.0% (2)	
30-39 (15)	80.0% (12)	20.0% (3)	
40-49 (9)	88.9% (8)	11.1% (1)	
50-59 (17)	100.0% (17)	=	
60-69 (11)	90.9% (10)	9.1% (1)	
70-79 (5)	100.0% (5)	-	

## Are there enough activities in Eden Prairie for you to enjoy during your free time?



REGISTERED VS NON-REGISTERED				
	A	В		С
Registered Voters (62)	74.2% (46)	24.2% (15)	)	1.6% (1)
Non-Registered Voters (17)	58.8% (10)	35.3% (6)		5.9% (1)
	. ,	( )		,
ALL RESPONDENTS				
		A	В	C
All respondents (79)		71.0% (56)	27.0% (21)	3.0% (2)
Registered Voters in Eden Prairie, MN, MN (62)		74.2% (46)	24.2% (15)	1.6% (1)
Live in Eden Prairie, MN, MN (78) - Self-reported		70.5% (55)	26.9% (21)	2.6% (2)
Subscribers to Eden Prairie, MN, MN (78)		70.5% (55)	26.9% (21)	2.6% (2)
Register respondents from anywhere (62)	7	74.0% (46)	24.0% (15)	2.0% (1)
PRECINCT				62 REGISTERED VO
	A	В		С
EDEN PRAIRIE P-01 (7)	71.4% (5)	28.6% (2)		
EDEN PRAIRIE P-03 (4)	100.0% (4)	-		-
EDEN PRAIRIE P-04 (5)	20.0% (1)	80.0% (4)		-
EDEN PRAIRIE P-05 (4)	100.0% (4)	-		-
EDEN PRAIRIE P-09 (2)	100.0% (2)	-		-
EDEN PRAIRIE P-10 (4)	25.0% (1)	75.0% (3)		-
EDEN PRAIRIE P-12 (3)	66.7% (2)	33.3% (1)		-
EDEN PRAIRIE P-13 (5)	80.0% (4)	20.0% (1)		-
EDEN PRAIRIE P-14 (7)	57.1% (4)	28.6% (2)		14.3% (1)
EDEN PRAIRIE P-15 (5)	100.0% (5)	-		=
EDEN PRAIRIE P-16 (6)	66.7% (4)	33.3% (2)		-
EDEN PRAIRIE P-17 (2)	100.0% (2)	-		-
EDEN PRAIRIE P-18 (4)	100.0% (4)	-		-
EDEN PRAIRIE P-19A (2)	100.0% (2)	-		-
EDEN PRAIRIE P-19B (2)	100.0% (2)	-		-
VOTERS GENDER				62 REGISTERED VO

VOTENS GENDEN			62 REGISTERED VOTERS
	A	В	C
F (31)	61.3% (19)	35.5% (11)	3.2% (1)
M (31)	87.1% (27)	12.9% (4)	-

AGE RANGE			62 REGISTERED VOTERS
	A	В	С
18-29 (5)	40.0% (2)	60.0% (3)	-
30-39 (15)	80.0% (12)	20.0% (3)	-
40-49 (9)	77.8% (7)	22.2% (2)	-
50-59 (17)	64.7% (11)	29.4% (5)	5.9% (1)
60-69 (11)	81.8% (9)	18.2% (2)	-
70-79 (5)	100.0% (5)	-	-

## Does Eden Prairie have adequate retail, dining, and entertainment options for you?

CURRENT RESULTS		79 Total Response	S
Y	'es (51)	64.6% (51)	
N	lo (28)	35.4% (28)	

DECICTEDED	VC NON	I DECICTEDE!	`

	Y	N
Registered Voters (62)	64.5% (40)	35.5% (22)
Non-Registered Voters (17)	64.7% (11)	35.3% (6)

## ALL RESPONDENTS

	Y	N
All respondents (79)	64.6% (51)	35.4% (28)
Registered Voters in Eden Prairie, MN, MN (62)	64.5% (40)	35.5% (22)
Live in Eden Prairie, MN, MN (78) - Self-reported	64.1% (50)	35.9% (28)
Subscribers to Eden Prairie, MN, MN (78)	64.1% (50)	35.9% (28)
Register respondents from anywhere (62)	64.5% (40)	35.5% (22)

PRECINCT	62 REGISTERED VOTERS

	A	В
EDEN PRAIRIE P-01 (7)	71.4% (5)	28.6% (2)
EDEN PRAIRIE P-03 (4)	100.0% (4)	-
EDEN PRAIRIE P-04 (5)	60.0% (3)	40.0% (2)
EDEN PRAIRIE P-05 (4)	100.0% (4)	-
EDEN PRAIRIE P-09 (2)	50.0% (1)	50.0% (1)
EDEN PRAIRIE P-10 (4)	75.0% (3)	25.0% (1)
EDEN PRAIRIE P-12 (3)	66.7% (2)	33.3% (1)
EDEN PRAIRIE P-13 (5)	40.0% (2)	60.0% (3)
EDEN PRAIRIE P-14 (7)	57.1% (4)	42.9% (3)
EDEN PRAIRIE P-15 (5)	80.0% (4)	20.0% (1)
EDEN PRAIRIE P-16 (6)	33.3% (2)	66.7% (4)
EDEN PRAIRIE P-18 (4)	50.0% (2)	50.0% (2)
EDEN PRAIRIE P-19A (2)	100.0% (2)	-
EDEN PRAIRIE P-19B (2)	100.0% (2)	-
EDEN PRAIRIE P-17 (2)	-	100.0% (2)

VOTERS GENDER			62 REGISTERED VOTERS
	A	В	
F (31)	61.3% (19)	38.7% (12)	

32.3% (10)

67.7% (21)

AGE RANGE			62 REGISTERED VOTERS
	A	В	
18-29 (5)	80.0% (4)	20.0% (1)	
30-39 (15)	73.3% (11)	26.7% (4)	
40-49 (9)	22.2% (2)	77.8% (7)	
50-59 (17)	70.6% (12)	29.4% (5)	
60-69 (11)	63.6% (7)	36.4% (4)	
70-79 (5)	80.0% (4)	20.0% (1)	

## How would you rate the value you receive for the amount of local property taxes you pay?



REGISTERED VS	NON-REGISTERED
	,

	A	В	C
Registered Voters (62)	38.7% (24)	54.8% (34)	6.5% (4)
Non-Registered Voters (17)	29.4% (5)	58.8% (10)	11.8% (2)

	A	В	C
All respondents (79)	37.0% (29)	56.0% (44)	8.0% (6)
Registered Voters in Eden Prairie, MN, MN (62)	38.7% (24)	54.8% (34)	6.5% (4)
Live in Eden Prairie, MN, MN (78) - Self-reported	37.2% (29)	55.1% (43)	7.7% (6)
Subscribers to Eden Prairie, MN, MN (78)	37.2% (29)	55.1% (43)	7.7% (6)
Register respondents from anywhere (62)	39.0% (24)	55.0% (34)	6.0% (4)

PRECINCT 62 REGISTERE	D VOTERS
-----------------------	----------

	A	В	C
EDEN PRAIRIE P-01 (7)	71.4% (5)	28.6% (2)	-
EDEN PRAIRIE P-03 (4)	25.0% (1)	50.0% (2)	25.0% (1)
EDEN PRAIRIE P-04 (5)	-	80.0% (4)	20.0% (1)
EDEN PRAIRIE P-05 (4)	25.0% (1)	75.0% (3)	-
EDEN PRAIRIE P-09 (2)	50.0% (1)	50.0% (1)	-
EDEN PRAIRIE P-10 (4)	25.0% (1)	75.0% (3)	-
EDEN PRAIRIE P-12 (3)	÷	66.7% (2)	33.3% (1)
EDEN PRAIRIE P-13 (5)	60.0% (3)	40.0% (2)	-
EDEN PRAIRIE P-14 (7)	14.3% (1)	71.4% (5)	14.3% (1)
EDEN PRAIRIE P-15 (5)	40.0% (2)	60.0% (3)	-
EDEN PRAIRIE P-16 (6)	33.3% (2)	66.7% (4)	-
EDEN PRAIRIE P-17 (2)	100.0% (2)	=	-
EDEN PRAIRIE P-18 (4)	50.0% (2)	50.0% (2)	÷
EDEN PRAIRIE P-19A (2)	100.0% (2)	=	-
EDEN PRAIRIE P-19B (2)	50.0% (1)	50.0% (1)	÷

VOTEDS GENDED		62 DECISTEDED VOTEDS

	A	В	C
F (31)	32.3% (10)	61.3% (19)	6.5% (2)
M (31)	45.2% (14)	48.4% (15)	6.5% (2)

AGE RANGE	62 REGISTERED VOTERS

	A	В	C
18-29 (5)	20.0% (1)	80.0% (4)	-
30-39 (15)	60.0% (9)	40.0% (6)	-
40-49 (9)	77.8% (7)	11.1% (1)	11.1% (1)
50-59 (17)	11.8% (2)	70.6% (12)	17.6% (3)
60-69 (11)	18.2% (2)	81.8% (9)	-
70-79 (5)	60.0% (3)	40.0% (2)	-

## Do you feel you have adequate opportunities to engage in community decision making?

CURRENT RESULTS		79 Total Responses
Y	Yes (58)	<b>73</b> .4% (58)
N	No (21)	26.6% (21)

REGISTERED	VS NON-REGISTERED	

	Y	N
Registered Voters (62)	75.8% (47)	24.2% (15)
Non-Registered Voters (17)	64.7% (11)	35.3% (6)

## ALL RESPONDENTS

EDEN PRAIRIE P-19B (2)

	Y	N
All respondents (79)	73.4% (58)	26.6% (21)
Registered Voters in Eden Prairie, MN, MN (62)	75.8% (47)	24.2% (15)
Live in Eden Prairie, MN, MN (78) - Self-reported	73.1% (57)	26.9% (21)
Subscribers to Eden Prairie, MN, MN (78)	73.1% (57)	26.9% (21)
Register respondents from anywhere (62)	75.8% (47)	24.2% (15)

PRECINCT		62 REGISTERED VOTERS
	A	В
EDEN PRAIRIE P-01 (7)	85.7% (6)	14.3% (1)
EDEN PRAIRIE P-03 (4)	75.0% (3)	25.0% (1)
EDEN PRAIDIE D. 04 (E)	00.00/ (4)	00.00/ (1)

	30.7 (0)	
EDEN PRAIRIE P-03 (4)	75.0% (3)	25.0% (1)
EDEN PRAIRIE P-04 (5)	80.0% (4)	20.0% (1)
EDEN PRAIRIE P-05 (4)	50.0% (2)	50.0% (2)
EDEN PRAIRIE P-09 (2)	50.0% (1)	50.0% (1)
EDEN PRAIRIE P-10 (4)	50.0% (2)	50.0% (2)
EDEN PRAIRIE P-12 (3)	66.7% (2)	33.3% (1)
EDEN PRAIRIE P-13 (5)	60.0% (3)	40.0% (2)
EDEN PRAIRIE P-14 (7)	85.7% (6)	14.3% (1)
EDEN PRAIRIE P-15 (5)	100.0% (5)	-
EDEN PRAIRIE P-16 (6)	66.7% (4)	33.3% (2)
EDEN PRAIRIE P-17 (2)	100.0% (2)	-
EDEN PRAIRIE P-18 (4)	100.0% (4)	-
EDEN PRAIRIE P-19A (2)	50.0% (1)	50.0% (1)

VOTERS GENDER			62 REGISTERED VOTERS
	A	В	
F (31)	64.5% (20)	35.5% (11)	
M (31)	87.1% (27)	12.9% (4)	

100.0% (2)

AGE RANGE			62 REGISTERED VOTERS
	A	В	
18-29 (5)	60.0% (3)	40.0% (2)	
30-39 (15)	66.7% (10)	33.3% (5)	
40-49 (9)	100.0% (9)	-	
50-59 (17)	76.5% (13)	23.5% (4)	
60-69 (11)	63.6% (7)	36.4% (4)	
70-79 (5)	100.0% (5)	-	

## How strongly would you recommend your community to others as a good place to live?

CURRENT RESU	JLTS		79 Total Responses
Α	Recommend very strongly (45)		57% (45)
В	Would recommend, but not strongly (32)		41% (32)
С	Would not recommend (1)		1% (1)
D	Would strongly not recommend (1)	I	1% (1)

## REGISTERED VS NON-REGISTERED

	A	В	C	D
Registered Voters (62)	58.1% (36)	40.3% (25)	-	1.6% (1)
Non-Registered Voters (17)	52.9% (9)	41.2% (7)	5.9% (1)	-

	A	В	C	D
All respondents (79)	57.0% (45)	41.0% (32)	1.0% (1)	1.0% (1)
Registered Voters in Eden Prairie, MN, MN (62)	58.1% (36)	40.3% (25)	-	1.6% (1)
Live in Eden Prairie, MN, MN (78) - Self-reported	56.4% (44)	41.0% (32)	1.3% (1)	1.3% (1)
Subscribers to Eden Prairie, MN, MN (78)	56.4% (44)	41.0% (32)	1.3% (1)	1.3% (1)
Register respondents from anywhere (62)	58.0% (36)	40.0% (25)	-	2.0% (1)

PRECINCT	62 REGISTERED VOTERS
----------	----------------------

	A	В	С	D
EDEN PRAIRIE P-01 (7)	57.1% (4)	42.9% (3)	=	-
EDEN PRAIRIE P-03 (4)	75.0% (3)	25.0% (1)	-	-
EDEN PRAIRIE P-04 (5)	60.0% (3)	40.0% (2)	-	-
EDEN PRAIRIE P-05 (4)	100.0% (4)	-	-	-
EDEN PRAIRIE P-09 (2)	100.0% (2)	-	-	-
EDEN PRAIRIE P-10 (4)	25.0% (1)	75.0% (3)	=	-
EDEN PRAIRIE P-12 (3)	=	100.0% (3)	=	-
EDEN PRAIRIE P-13 (5)	80.0% (4)	20.0% (1)	-	-
EDEN PRAIRIE P-14 (7)	28.6% (2)	57.1% (4)	-	14.3% (1)
EDEN PRAIRIE P-15 (5)	40.0% (2)	60.0% (3)	-	-
EDEN PRAIRIE P-16 (6)	50.0% (3)	50.0% (3)	-	-
EDEN PRAIRIE P-17 (2)	50.0% (1)	50.0% (1)	-	-
EDEN PRAIRIE P-18 (4)	100.0% (4)	-	-	-
EDEN PRAIRIE P-19A (2)	100.0% (2)	-	-	-
EDEN PRAIRIE P-19B (2)	50.0% (1)	50.0% (1)	-	-

VOTERS GENDER 62 REGIS	ISTERED VOTERS
------------------------	----------------

	A	В	C	D
F (31)	61.3% (19)	38.7% (12)	-	-
M (31)	54.8% (17)	41.9% (13)	-	3.2% (1)

AGE RANGE				62 REGISTERED VOTERS
	A	В	C	D
18-29 (5)	20.0% (1)	80.0% (4)	-	-
30-39 (15)	73.3% (11)	26.7% (4)	-	-
40-49 (9)	55.6% (5)	33.3% (3)	-	11.1% (1)
50-59 (17)	41.2% (7)	58.8% (10)	-	-
60-69 (11)	63.6% (7)	36.4% (4)	-	-
70-79 (5)	100.0% (5)	-	-	-

## How would you rate the overall quality of public services provided by your city?

CURRENT RESULTS		79 Total Responses
A	Excellent (40)	51% (40)
В	Good (36)	46% (36)
C	Fair (3)	4% (3)
D	Poor (0)	0% (0)

## REGISTERED VS NON-REGISTERED

	A	В	C	D
Registered Voters (62)	48.4% (30)	50.0% (31)	1.6% (1)	-
Non-Registered Voters (17)	58.8% (10)	29.4% (5)	11.8% (2)	-

	A	В	C	D
All respondents (79)	51.0% (40)	46.0% (36)	4.0% (3)	-
Registered Voters in Eden Prairie, MN, MN (62)	48.4% (30)	50.0% (31)	1.6% (1)	-
Live in Eden Prairie, MN, MN (78) - Self-reported	50.0% (39)	46.2% (36)	3.8% (3)	=
Subscribers to Eden Prairie, MN, MN (78)	50.0% (39)	46.2% (36)	3.8% (3)	=
Register respondents from anywhere (62)	48.0% (30)	50.0% (31)	2.0% (1)	-

PRECINCT	62 REGISTERED VOTERS

	Α	В	С	D
EDEN PRAIRIE P-01 (7)	100.0% (7)	-	-	-
EDEN PRAIRIE P-03 (4)	25.0% (1)	75.0% (3)	-	-
EDEN PRAIRIE P-04 (5)	40.0% (2)	60.0% (3)	-	-
EDEN PRAIRIE P-05 (4)	75.0% (3)	25.0% (1)	-	-
EDEN PRAIRIE P-09 (2)	100.0% (2)	-	-	-
EDEN PRAIRIE P-10 (4)	25.0% (1)	75.0% (3)	-	-
EDEN PRAIRIE P-12 (3)	=	100.0% (3)	-	=
EDEN PRAIRIE P-13 (5)	40.0% (2)	60.0% (3)	-	-
EDEN PRAIRIE P-14 (7)	14.3% (1)	71.4% (5)	14.3% (1)	-
EDEN PRAIRIE P-15 (5)	-	100.0% (5)	-	-
EDEN PRAIRIE P-16 (6)	66.7% (4)	33.3% (2)	-	-
EDEN PRAIRIE P-17 (2)	50.0% (1)	50.0% (1)	-	=
EDEN PRAIRIE P-18 (4)	100.0% (4)	-	-	-
EDEN PRAIRIE P-19A (2)	50.0% (1)	50.0% (1)	-	-
EDEN PRAIRIE P-19B (2)	50.0% (1)	50.0% (1)	-	-

VOTERS GENDER 62 R	REGISTERED VOTERS
--------------------	-------------------

	A	В	C	D
F (31)	48.4% (15)	51.6% (16)	-	-
M (31)	48.4% (15)	48.4% (15)	3.2% (1)	-

AGE RANGE				62 REGISTERED VOTERS
	A	В	C	D
18-29 (5)	20.0% (1)	80.0% (4)	-	-
30-39 (15)	60.0% (9)	40.0% (6)	-	-
40-49 (9)	66.7% (6)	22.2% (2)	11.1% (1)	-
50-59 (17)	23.5% (4)	76.5% (13)	-	-
60-69 (11)	54.5% (6)	45.5% (5)	-	-
70-79 (5)	80.0% (4)	20.0% (1)	-	-

## How satisfied are you with the level of communication from the city?

CURRENT RESULTS	S	79 Total Responses
Α	Very satisfied (31)	39% (31)
В	Satisfied (34)	43% (34)
С	Neither satisfied nor dissatisfied (12)	15% (12)
D	Dissatisfied (2)	3% (2)
E	Very dissatisfied (0)	0% (0)

## REGISTERED VS NON-REGISTERED

	Α	В	C	D	E
Registered Voters (62)	40.3% (25)	43.5% (27)	12.9% (8)	3.2% (2)	-
Non-Registered Voters (17)	35.3% (6)	41.2% (7)	23.5% (4)	-	-

## ALL RESPONDENTS

	A	В	C	D	E
All respondents (79)	39.0% (31)	43.0% (34)	15.0% (12)	3.0% (2)	-
Registered Voters in Eden Prairie, MN, MN (62)	40.3% (25)	43.5% (27)	12.9% (8)	3.2% (2)	=
Live in Eden Prairie, MN, MN (78) - Self-reported	38.5% (30)	43.6% (34)	15.4% (12)	2.6% (2)	-
Subscribers to Eden Prairie, MN, MN (78)	38.5% (30)	43.6% (34)	15.4% (12)	2.6% (2)	=
Register respondents from anywhere (62)	40.0% (25)	44.0% (27)	13.0% (8)	3.0% (2)	-

## PRECINCT 62 REGISTERED VOTERS

	Α	В	C	D	Е
EDEN PRAIRIE P-01 (7)	71.4% (5)	14.3% (1)	=	14.3% (1)	=
EDEN PRAIRIE P-03 (4)	-	100.0% (4)	-	-	-
EDEN PRAIRIE P-04 (5)	40.0% (2)	20.0% (1)	40.0% (2)	-	-
EDEN PRAIRIE P-05 (4)	50.0% (2)	50.0% (2)	-	-	-
EDEN PRAIRIE P-09 (2)	-	50.0% (1)	50.0% (1)	-	-
EDEN PRAIRIE P-10 (4)	50.0% (2)	50.0% (2)	-	-	-
EDEN PRAIRIE P-12 (3)	-	33.3% (1)	66.7% (2)	-	-
EDEN PRAIRIE P-13 (5)	40.0% (2)	40.0% (2)	20.0% (1)	-	-
EDEN PRAIRIE P-14 (7)	57.1% (4)	28.6% (2)	14.3% (1)	-	-
EDEN PRAIRIE P-15 (5)	-	80.0% (4)	20.0% (1)	-	-
EDEN PRAIRIE P-16 (6)	50.0% (3)	33.3% (2)	-	16.7% (1)	-
EDEN PRAIRIE P-17 (2)	100.0% (2)	-	-	-	-
EDEN PRAIRIE P-18 (4)	50.0% (2)	50.0% (2)	-	-	-
EDEN PRAIRIE P-19A (2)	50.0% (1)	50.0% (1)	-	-	-
EDEN PRAIRIE P-19B (2)	-	100.0% (2)	-	-	-

## VOTERS GENDER 62 REGISTERED VOTERS

	Α	В	C	D	E
F (31)	41.9% (13)	38.7% (12)	12.9% (4)	6.5% (2)	=
M (31)	38.7% (12)	48.4% (15)	12.9% (4)	-	-

	A	В	C	D	E
18-29 (5)	-	60.0% (3)	40.0% (2)	-	-
30-39 (15)	40.0% (6)	40.0% (6)	13.3% (2)	6.7% (1)	-
40-49 (9)	77.8% (7)	11.1% (1)	11.1% (1)	-	-
50-59 (17)	41.2% (7)	47.1% (8)	11.8% (2)	-	-
60-69 (11)	18.2% (2)	63.6% (7)	9.1% (1)	9.1% (1)	-

70-79 (5) 60.0% (3) 40.0% (2)

## Do you have any parting thoughts for the city of Eden Prairie?

## Ω

### Anonymous user's Opinion

I think Eden Prairie has adequate retail/dining/entertainment options in that there is enough in total, but I would like to see EP encourage more small/local businesses in Eden Prairie. One thing that I miss from the last community that I lived in was a presence of a "down town" area that had several local shops and restaurant.



### Anonymous user's Opinion

I absolutely love Eden Prairie community and the City is doing an OUTSTANDING job taking care of it and of the residents!



### Anonymous user's Opinion

Put dates for voter registration prior to upcoming elections(including school board and school voter referendums) on city website.



### Anonymous user's Opinion

Could always use more biking infrastructure



### Anonymous user's Opinion

City is great overall. Would like to see work made on inspection enforcement for construction projects and also work to complete road repairs quicker than a year long headache (Preserve Blvd).



#### Anonymous user's Opinion

Please consider making the EP Community Center, exercise & swim facilities, should be free or low cost to all residents.



#### Anonymous user's Opinion

It takes too long to get anywhere in EP. The lights on Flying Cloud are ridiculous, the speeds on the smaller streets could use a little higher speed and still be safe. I would LOVE to see some small businesses go into areas around the mall and city center but the prices are too high so all we get are chains which are blah. Just looking to have a few more options for breakfast and casual dining that isn't big box chains



### Anonymous user's Opinion

There is not a single convenience store / gas station in the ENTIRE south-west part of Eden Prairie! Also, residential internet access is practically a monopoly (well, to be exact, the market is shared between Comcast and Centurylink - both are far from great). City monopoly on alcohol sales is un-American.



## Anonymous user's Opinion

I'd like to see more incentives for public Electric Car Charging options.



## Anonymous user's Opinion

The increase in crime lately is a little alarming-hopefully it's isolated and not a trend



## Anonymous user's Opinion

Fantastic parks, trails, programs.



## Anonymous user's Opinion

I think there should be a bigger push for local businesses over Chains. I also believe that we should strive for less deforestation within the city.



## Anonymous user's Opinion

Lots of new big developments on spring road, Eden prairie road, Need convenience store nearby spring rd. and build new bridge on hwy5/ EDEN Prairie rd intersection.



## Anonymous user's Opinion

Our School ratings have dropped dramatically. Our daughters, who graduated from Eden Prairie Schools were thinking about moving back to Eden Prairie with their young families. After looking at the school rating, they decided to move elsewhere. Maybe that explains the 200,000 drop in the valuation of our home. We are very disappointed in Eden Prairie, our home for the last 25 years. Crime has gone up. It is not the safe environment it used to be.



## Anonymous user's Opinion

No one likes taxes but we love the services and parks/ trails / schools



## Anonymous user's Opinion

Love living in EP; have been here almost 19 years cumulatively in three homes. Great snow removal, helpful police, lovely layout with wetlands, lakes, greenery, plenty of convenient shopping choices (except liquor store which is pricey compared with Total Wine and Costco in other cities), health and dental practitioners, veterinary care and stores. Would like the speed limit lowered on Pioneer Trail between Flying Cloud Airport and Mitchell Road where there are so many homes and people drive 50-55 mph instead of 45. Other four lane roads in the area that have homes have speed limits of 40mph. Also, some of the traffic lights are not "smart" and cause excessive wait times for the cross streets. I like the left turn on flashing yellow options. However, by Grace Church, sometimes there is no green arrow and cars waiting to turn left/west onto Pioneer Trail are unable to do so at high volume church times and during holidays. The only way to get through is to leave the left turning lane, cut across traffic lanes to the right lane, turn right/east, make a U-turn in about 1/2 mile and head west on Pioneer Trail; 15-20+ cars in the left turn lane (to go west on Pioneer Trail) are still waiting to turn... And at other places around town, sometimes only 2 cars have the left turn arrow and 6 cars speed through on the yellow and red light. Thank you for listening.



## Anonymous user's Opinion

It's hard to find a schedule for when the city is going to broadcast on public access.

### Anonymous user's Opin

I am extremely happy about the decision to put in the light rail, as I am someone who doesn't drive and needs a easy way to Minneapolis and back. This makes my quality of life better and I thank the city deeply for that. I also thank the city for staffing such wonderful Police and Firefighters. I love Eden Prairie because I feel safe in this town.

## Anonymous user's Opinion

Keep up the great work

### Anonymous user's Opinion

I signed up for POLCO specifically for you to get this answer... Don't do a survey through a company that requires you to sign up for an account on their site just to submit your answers. I don't want another account with a company I will never use again.

### Anonymous user's Opinion

The SW Metro Prime needs some improvement

## Anonymous user's Opinion

We pay way too much money for under-utilized park areas that are set aside for seasonal sports. During off season, residents pay to keep the under-utilized seasonal sports fields immaculately groomed. WASTE OF MONEY! We need a proper, year round, off leash dog park. The unused ice rinks EP tries to claim are dog parks are not adequate.

### Anonymous user's Opinion

Too many chain restaurants. Few neighborhood places. Same with retail. EP is known out of state for being freeways and apartments.

### Anonymous user's Opinion

Pay your teachers and other EP schools staff more money. We are dealing with more and more angry children. The growing numbers of students who come to school angry is disturbing. Also, we need year 'round schooling. Unfortunately too many of our young people are better off with school staff at school than with their own homes with family. These very families need help. Stop building apartment buildings. Eden Prairie feels more and more closed in. More urban. Not good.

## Anonymous user's Opinion

I am in favor of lowering speed limits on ALL Eden Prairie streets It would be awesome if Eden Prairie provided fall curbside leaf cleanup like other communities offer at no additional cost due to our already high taxes

## Anonymous user's Opinion

We could use more high quality restaurants, and a couple of neighborhood "pubs". Thank you for not evicting Red Stone! Check out a restaurant in White Bear Lake. We need something like this OR this would be great! https://www.ingredientscafe.com/ We could also use a Trader Joes or Lake Winds Coop. I heard that the new Scheels' will be selling guns. Not happy about that. I think that the Eden Prairie signs, such as the one at Hennepin Town Road and Anderson Lakes Parkway, were a waste of money and the design was poor. Waves and sea gulls? We don't live by the ocean. Eagles and cattalis could have been better. Just saying.

## Anonymous user's Opinion

There are Section 8 and other rental properties on my street, there is no enforcement of any codes related to upkeep of property or yards. Cars are allowed to be parked on the street during snow storms with no ticketing. Also, I would like to see a curbside clean-up day as is done in other cities. The current clean-up day of haul your own for anyone regardless of what city they live in is unacceptable.

## Anonymous user's Opinion

Thanks for the excellent job all of your EP city team do every day!

## Anonymous user's Opinion

1) Public Works: paint crosswalks across all residential streets that cross ped/bike paths, paired with Public Safety stopping motorists who don't obey stop signs or run red lights. I see this everyday, with too close calls. This is why I reported I don't feel safe in the city or in my neighborhood. Start with Shetland Rd and Pioneer! 2) Travel can be painstakingly slow in EP Center area and EP Rd from Pioneer Tr. to Vallyview Rd. Look Michigan's solution to left turns at major intersections 3) Consider posting summer road construction updates on Facebook page, or have an easy link from homepage. 4) Can anything be done about a handful of super loud jets at FCM? 5) Kudos to EP Liquor - keep EP municipal!

## Anonymous user's Opinion

Please bring back and allow and old fashioned type of bar with Pull tabs!!!! Tired of these high end, snotty food places. Again, please allow Pull tab sales in EP.

## Anonymous user's Opinion

Increasing crime is a concern

## Anonymous user's Opinion

I have just moved here from Oregon and am very impressed with the services offered to community members. The large amount of trails, amazing community center etc. I do feel there is a void in food, shopping and entertainment. Also, road construction is happening all over and is a bit of a headache. I do not feel that it is makes getting around to unmanageable. Being from Oregon, specifically Portland, I am used to limited roads with no way to increase the size even though the population is growing so fast. If I wanted to get from Beaverton Oregon to Vancouver Washington during rush hour the 15 miles would take me over 1.5 hours!! Love living here!

## Anonymous user's Opinion

Wish we had a proper downtown that wasn't a mall

## Anonymous user's Opinion

It is a huge mistake bringing in the light rail, we will be leaving Eden Prairie because of it.

## Anonymous user's Opinion

I'm sure it has to do with light pollution, but walking now after dark is difficult in our area because the lamp posts are too far apart. It would be nice to get a couple of light standards installed to make some traditionally dark areas more lit for walkers.

## An

### Anonymous user's Opinion

I live in an association managed neighborhood and wonder if our roads have to be private?

## Anonymous user's Opinion

MSP airplane noise on W 67th Street and Boyd Avenue is awful from 5-7am and 7-11pm. The arrival changes they made a few years ago continue to be an issue with no engagement or representative from the city. Very disappointed we weren't notified and engaged like Edina was. And to have noise issues this far away from MSP on a conservation area is ludicrous. Taxation without representation in this case.



### Anonymous user's Opinion

We live off of valley view and it would be nice to have that main road leading to the high school to look a lot better! It needs a serious update....

### Anonymous user's Opinion

We need more sidewalks on busy streets for the safety of our residents, especially children. For example, Duck Lake Trail between Dell and 101 is a frequently used shortcut for cars and there is no sidewalk and there are blind spots for approaching vehicles.



## Anonymous user's Opinion

So glad we moved here a little over a year ago!